#HXEITaRa)L 2023FE ASRIBAMRSRERAE

Z DB AY ARG %E
3.131 (1)
25942 (Mcal)

RHRE BEJY)
> 0.263 (t-ASRAE[{#5)
0.185 (t-ASR) x

ZDfE A K5 -
0.107_(t)

9,643 Mcal/t =
6,771 (Mcal/t-ASRRI A% =

0.263 (t-ASRE[#A%5)

|, | B AE#A# (RPF15)

2.698 (t-ASRE[#X%)
2.838 (t-ASR) X
6,437 Mcal/t =
6,771 (Mcal/t-ASREI A% =
2.698 (t-ASRETHAS)

WESYAFCn0n>

ASR ARDZE L [E LR (RPF30) ||
0.690 (t) e 1.065 (t—ASRE[#A%H)
4,672 (Mcal) 1.047 (t-ASR) X

ASR &> || 6,887 Mcal/t +
0.310 (t) 6,771 (Mcal/t-ASRREI#A%) =

1.065 (t-ASRAEJ¥A%))

—>|EIF R R TRV —
0.000 (t+-ASRAE[#A%3)
0.000 (t-ASR) X
0 Mcal/t =
6,771 (Mcal/t-ASREI A% =
0.000 (t-ASRAI#A%)

ZE R AR L
0.117 ()

TH-HoX
0.021 (t)

BRRM T 7L
0.000 (t)

/ BATRDE 4521 (t-ASRE]#%%) EURTHR)L¥— 4.026 (t—ASREHZMJ\)\
+HEA RS 0417 () +ERTTUFIL 0138 (B
HEAE 4.939 (1) ERET 4164 (©

S v

EEE 4164 (t)
+ BAG 4.939 ()

ASREZAMERERE  0.84




